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jpupNfhz fzpj ml;ltizfis gad;gLj;jp gpurpdk; jPu;j;jiy mtjhdpg;Nghk;. 

 
Kjypy; ghlg; Gj;jfj;jpd; gf;fk; 22 Kjy; gf;fk; 29 tiu thrpj;J jhd;rd;> ird;> Nfhird; ml;ltizfspd; 
gad;ghL njhlu;ghdnjhU njspitg; ngw;Wf;nfhs;Sq;fs;. 

 
fPNo jug;gl;Ls;s Kf;Nfhzpfspy; ml;ruq;fs; %yk; jug;gLk; gf;fq;fspd; ePsq;fisf; fhz;f. (,ilntsp 
epug;Gf 
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fzpjk; jpupNfhz fzpjk;; II 

 

juk;  11 

 

thuk; - ,uz;lhk;  thuk; 
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khfhz fy;tpj; jpizf;fsk; rgufKt – thuhe;j ghlrhiy 

 

 

cjhuzk; 02

 

 

cjhuzk; 03 

 

 

cjhuzk; 04 

 

 

cjhuzk; 01

 

 

sin 61°20′ =
𝑥

12
 

………………………..=
𝑥

12
 

……………….× 12 = 𝑥 

∴ 𝑥 = 10.53𝑐𝑚 

𝑠𝑖𝑛34°30′ =
𝑎

10
 

………………………=
𝑎

10
 

………………× 10 = 𝑎 

𝑎 = 6.87𝑐𝑚 

fpNuf;f vOj;Jf;fshy; fhl;lg;gLk; Nfhzq;fspd; ngUkhdk; fhz;f 
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$w;W tpdhf;fisj; jPu;j;jy; njhlu;ghd G+uzkw;w gbKiw fPNo jug;gl;Ls;sJ. mtw;wpd; ,ilntspfis 
epug;Gf. 

 

        

 

 

 

 

 

 

 

 

  

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1) fpilj; jiunahd;wpd; kPJ mike;Js;s NfhGuk; 

𝐴𝐵 Ak; mjd; mbapypUe;J 100𝑚 J}uj;jpy; 

mike;Js;s Gs;sp 𝐶ck; cUtpy; jug;gl;Ls;sJ. 

𝐶,ypUe;J NfhGu cr;rpapd; Vw;wf; Nfhzk; 

27050′ MFk;. Gs;spfs; 𝐵, 𝐶 ,w;fpilapy; Gs;sp 

𝐷MdJ 𝐴𝐷 = 80𝑚 MFkhW mike;Js;sJ. 

i)  NkNy jug;gl;l juTfis cUtpy; Fwpf;f. 

 

 

 

 

 

 

 

 

ii) NfhGuj;jpd; cauj;ijf;; fhz;f..  

    △ 𝐴𝐵𝐶  ,w;F jhd; tpfpjj;ij gad;glj;jp> 

    tan 270 50′ = 
𝐴𝐵

𝐵𝐶
 

        ……………    = 
𝐴𝐵

………..
  (tan 270 50′ I jhd;rd;  

                 ml;ltizapy;  ghu;j;J 
 vOJf.) 

               ∴ 𝐴𝐵 = ……….. × 100 

          = 52.8 𝑚 

iii) 𝐴𝐷̂𝐵,d; gUkidf; fhz;f. 

     sin 𝐴𝐷̂𝐵 =
𝐴𝐵

𝐴𝐷
=

52.8

………..
 

                       =  ………….. 

        ∴  𝐴𝐷̂𝐵 = 41018′ 

A 

B 
D 

C 

80 𝑚 

Type equation here.

.........

. 

…….. 

2) cUtpy; jug;gl;Ls;s NfhGuk; 𝑃𝑄,d; cr;rp 𝑃,y; 

fl;lg;gl;Ls;s 10𝑚 ePskhd fk;gpapd; mLj;j Kid 

epyj;jpd; kPjike;Js;s Gs;sp 𝑆,y; fl;lg;gl;Ls;sJ. 

Neu;NfhL 𝑄𝑆 kPJ 𝑄,ypUe;J 5𝑚 J}uj;jpy; Gs;sp 𝑅 

mike;Js;sJ. 𝑅,ypUe;J 𝑃,d; Vw;wf;Nfhzk; 

57°50′ MFk;.  

i) NkNy jug;gl;l juTfis cUtpy; Fwpf;f. 

 

 

 

 

 

 

 

ii) NfhGuj;jpd; cauj;ijf; fhz;f.  

   △  𝑃𝑄𝑅  ,ypUe;J> 

     tan 570 50′ =
𝑃𝑄

𝑅𝑄
= 

𝑃𝑄

………….
 

                  PQ  = ……….. × tan 570 50′ 

      PQ = ……….. × …………. 

∴ NfhGuj;jpd; cauk;     = 7.95 𝑚 

 

iii)𝑆 ,ypUe;J 𝑃,d; Vw;wf; Nfhzj;ijf; fhz;f. 

    △  𝑃𝑆𝑄  ,ypUe;J> 

  𝑆𝑖𝑛 𝑃𝑆̂𝑄 =  
𝑃𝑄

𝑃𝑆
=  

7.95

…………
 

  𝑆𝑖𝑛 𝑃𝑆̂𝑄 = 0.7950 

    ∴  𝑃𝑆̂𝑄  =  52039′  

 

P 

Q 
R 

S 
.........

. 

…….. 

(ird; ml;ltizapy; 
,Ue;J) 

ghlg; Gj;jfj;jpy; jpupNfhz fzpjk; ghlj;ij ed;whf thrpj;J gapw;rp 18.6, 18.7,d; 

tpdhf;fSf;F tpilaspf;f. 2016 Kjy; 2019 tiuahd guPl;ir tpdhf;fSf;F tpilaspf;f 
Kaw;rpf;fTk;. 


